PLOTTED BY: SHOESMITH, MARK P DATE: Tuesday, November 17, 2009

"This document has been prepared by AECOM Ltd ("AL") for the sole use of our Client (the "Client") and in accordance with generally accepted consultancy principles, the budget for fees and the terms of reference agreed between AL and the Client. Any
information provided by third parties and referred to herein has not been checked or verified by AL, unless otherwise expressly stated in the document. No third party may rely upon this document without the prior and express written agreement of AL"

WELD LENGTH MIN. 80mm
ON TOP AND BOTTOM OF

WELD LENGTH MIN. 80mm
ON TOP AND BOTTOM OF

20

90 90

340

68

68

BOLTS

ALL BOLTS TO BE
GALVANISED M24
HSFG UNLESS NOTED
OTHERWISE.

KEY

FORK PLATE - 500mm LONG
x 180mm WIDE x 20mm THK

LINK PLATE - 400mm LONG
x 130mm WIDE x 30mm THK

KEEPER PLATE - 100mm x
50mm x 10mm THK. C/W 120
HOLES FOR M10 BOLTS.

UPPER PIN ( SEE DETAIL
BELOW )

PARALLEL FLANGE

CHANNELS
300mm x 90mm x 41Kg/m PFC

68

68

68

z6

© ©® ©E

©,

BACK FACES. BACK FACES.
| /I \ 26 261/ I\
1 ] 15 15 I BOLTS
—4 " R ALL BOLTS TO BE
T 26 T GALVANISED M24
— — 1 — HSFG UNLESS NOTED
] | 60 - | OTHERWISE.
. Y - | 26
I z6
E j E j PARALLEL FLANGE
Q P CHANNEL
@ 300mm x 91mm x 41mm PFC
E j E j WITH 15mm thk STIFFENERS.
4 z10 4
1 z10 I B
. . A4 A d A . .
I I I I
| 4 I I I I |
‘ Loy Loy
I I I I
I I I I
I I I I
! L ' L WELD A MIN. OF 80mm
TOP AND BOTTOM ON
- - BACK FACES.
ANCHOR BLOCK
ANCHOR BLOCK BOLTED TO PFC'S
USING 4No. M20 GRS8.8 FIXING BOLTS.
DETAIL ‘A’
Scale 1:2
45 MAJOR THREAD DIA.
15 75 75 15 -
o — | - — |
(aV]
|
I .
S I I
I I
{ — T T I: :I —_ T 7
c_ X
3 o
0 3 100 5
— -— )
I == 2
3|
| |
| |
o I
(o)) [o0)
|
o
<t
O -
|
|
(o)
[o0)
|
N~
o
<t
DECK LEVEL
A 4
397 I 397
DETAIL 'C’
Scale 1:5

WITH 15mm thk STIFFENERS
AND 20mm THK END PLATES.

LOWER PIN ( SEE DETAIL
BELOW )

WELD A MIN. OF 80mm

CHEEK PLATE - 150mm @ x
15mm THK.

DEOE®O

DOUBLE NUT, WASHER
AND SPHERICAL WASHER

62

240

15

I I

10
——\ -~

76

190 5

30

E—— I<—

UPPER PIN

Scale 1:5

PINS

TO 57mm @

560 (+0.5, -0) PIN.
MATERIAL (EN24) 817M40 Grade V.
EXISTING HOLES IN SUSPENDER
BRACKET TO BE REAMED OUT

(+0.5, -0).

165

62

SI ~
F

#

7 & TOP AND BOTTOM ON
BACK FACES.
75 : . 75
ANCHOR BLOCK
ANCHOR BLOCK BOLTED TO PFC'S
USING 4No. M20 GR8.8 FIXING BOLTS.
DETAIL 'B’
Scale 1:2
20 75 75 20
—b\\' ' 4: ~ — ===
>0 7II Ii__; = N2
I I
‘I LU
@ fT — TW = TYP.
. | |
/ | (A
I \Eﬁ V
T } .
4 | L~
- 4
O —I ( A= HOLE
N N M10 THREADED HOLE
e B
I FI_ZIL_ e
2l
T
| |
® Uy
| |
| |
. L

DETAIL 'D’

Scale 1:5

LOWER PIN
Scale 1:5
L - 50
7
g : IZ
i i —TYP.
®

DETAIL 'E'

Scale 1:5

GENERAL NOTES

1. ALL DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED.

2. DIMENSIONS MUST NOT BE SCALED FROM
THIS DRAWING.

B 11/11/09 ISSUED AS "AS - BUILT" MPS | MJB [CPEC
INITIAL ISSUE

A 04/02/2008 MPS | SB [CPEC

Rev Date Detail Made | Chk'd | App'd

Status :

Client:

N\

Forth Estuary Transport Authority

[ om |

Project :

FORTH ROAD BRIDGE

MAIN CABLE

DEHUMIDIFICATION SYSTEM

Title :

ADDITIONAL WORKS
REPLACEMENT OF
CABLE BAND BOLT AT
PANEL POINT 24SW
Sheet 2 of 2

Eng:

MJB

MPS

Chk'd :

SB

App'd :

CPEC

Date :

JUNE 2008

AS SHOWN

5th Floor

AZCOM

2 City Walk,
LEEDS, LS11 9AR

Tel: +44 (0) 113 391 6800
Fax: +44 (0) 113 391 6899
WWW.aecom.com

No.

47484/W/908

Rev:

B

| A1




